DoooIlodenododododn 20130 50 150
ooooo O
001
000000000000000000000000
(1-1) 1+i
(1-2) 1—+/3i
(1-3) 3 ++/3i
(1-4) —1+i

(1-5) —v6 —V2i

g 2

0000000 e*=cosz+isineg 000000000000 O00OO

(2-1) cos(a+ B) = cosacos § — sinasin 3
sin(a + 3) = sin acos 3 + cos asin 3

(2-2) cosnx +isinnx = (cosx +isinx)”

agd 3

a=1+v3i, f=1+i000000000000000
(3-1) a°

(3-2) 5°

(3-3) 1+a/2+a?/4+a/8+ a*/16 + a®/32
@ (5)

00 4
a:aﬂiﬁ:wﬂDDDDamDDDDDDDDDDDmg%DDDQH%DDDDDDDD

IR

O0odoooood0dae, b, c0000 e, b000O00O0AOOOOOOODODODO A =a?+0b -
2abcos 00 000 OOOOO

000 o, f00a=a, B=0b00000MO0000E=|a—AP2P00000000000
0000000000



